C12 - 4.1 - Degree/Radian Conversion HW

Degrees to Radians: Radians to Degrees:
180°  _ s i 180°
= X X
T 180° 180° T

m and 180°are the same thing, just in dif ferent units

Find 0 in radians

100°
0
40° 60
00
0
1350 10
330°
0
Find 6 in degrees
s M 51
6rad 12rad 3 rad
31 21T 2_ﬂ
5 rad 5 rad 7 rad
3.1414q 512,44 7raa
2 10 1
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C12-4.1-Fill in blanks degrees/radians WS

Simplify

300

2T

—12 )

450

31

—12

_60°

4Tt
—12—

900

_2—’

_30°_,

2T
—12—

_60°_,

41T

—12 )

900

—_—T

6Tt

—12

_ 1200,

8T
—12—

3600,

2T

_720°_,

dr__,

450

— JR—

31

—12—

90°

6TC

—12 )

_135°

ot

—12

_180°_,

121t
— 12—

_5409_,

3r__,

_1080°_,

em__
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c12-4.1-#?” HMK

Label each terminal arm Gy Simplify
' A 4 5 A )
T
6
< > >
T T .
S A
s "
3
0
< > >
T C
T C
A
S n A
4
< —
\ 4
! C
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C12 - 4.2 - Special Sketch Ostps Find 6,,, HW

Sketch O, Find 0,

& 5

11w

3 ek T
4 2
41 T T
— 6 —
3 4
7
T 2m 3
4
51 7
—— T[ —
3 6
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Cl12-4.2 - Odd/Dec Sketch Ostp, Find 6,., HW

Sketch O, Find 0,
T

5

7
12

5
11

11w
12

" 0.64
7
T
7 1.70
52 3m
8
3 3.6
11
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C12 - 4.2 - Cot Sketch, Find 64t, Ogen, HW

Sketch Oy, Find a 84, and 6gep,.

7'[ 3m

3 1.67 - 4
- r 3

2 = 6.28
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C12 - 4.3 - Find Ratio/Type in Calc HW

13 0
12
]
5
sinf = csch = cosf = secl = tanf = cotf =
Type in Calculator (Degrees or Radians)
sin14° = csc25% = sec105° = cot150° =
c0s274° =
sin60° =
tan(—240°) =
. _ 2
sinl.7 csc5.9 = sec <;> = cot0.6 =
T[ —
cos6 =
tan(3m) =
COS2T =
Find 6 in Degrees Find 6 in Radians
. 3 7 cosf = 0.9 cotd =5
sinf = § sec = §
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C12-4.3-ASTCHW

Draw 2 triangles in the quadrants for the following statements

cos@ >0

L 4o

cosf <0

L 4ol

tan@ > 0

L 4o

tanfd < 0

-~

Draw a triangle in the quadrant for following statements

cosf@ > 0andsinf <0

-~

y

- >

cosfd < 0andsinf <0

L 4ol

cosfd < 0andtanf >0

-~

y

w ~

cosd < 0andtanf0 <0

w ~
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sinf >0

- *

sind <0

- >

tand > 0 andsinf > 0

-_H

y

- #

tanf < 0 andsin@ > 0

- ~




0,

0

0

C12-4.3-Draw Ogp, 0 < 0 < 2m HMK

21

, 2T

, 2T
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0,2m

0,2m

0,2m



C12 -4.3 -Solve sinf, cosf,tan8 =? HMK

Solve
sinE = Sm -
3 tanT =
41 i
: — coS— =
sin 3 6
. 7 _ . 5m
an 4 = sm? =
5T 7
in— = tan— =
sin 3 6
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C11m
sin— =

tan— =

3
cos— =

sin— =




C12 - 4.3 - Solve sinx:% HW

Solve for x,0 < x < 2m, answer should say x =

sinx = >
V3
sinx = >
cosx = i 1
== sinx = ——
2 V2
V3
cosx = - tanx =1

1
coSx = ——
V2
*rationalize
2
coSsx = >
tans = 1 cosx = —2
V3
V3
sinx = —7 tanx = —/3
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tanx = —1
_ 1
sinx = ——
2
tanx = \/§ tanx =
_ 1
sinx = —
V2 cosx =

&l -

~



Cl12-4.3-sinf = 0.8 HW

Solve for x,0 < x < 2m, answer should say x =

1
tanx = —2 sinx = 0.6 cosx = 4
1
sinx = —0.4 tanx = © cosx = 2
1 _ 1
sinx = —0.1 tanx = = sinx = —0.8 cosx =-—¢ tanx =—0707 sinx =z

cosx = 0.75 tanx = —0.866

2
cosx = —0.5 cosx = —0.65 sinx = —3 tanx = 0.35
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C12 - 4.3 - Point Trig Ratio HW SOH CAH TOA

Find all 6 trig functions for the following points. And Find the Reference Angle and Angle in Standard Position.

(4,3)
sinx = cscx =
0, =
cosx = secx =
9stp =
tanx = cotx =
(=34 . cscx =
sinx =
Or = secx =
cosx =
GStp - cotx =
tanx =
(2,3) sinx = cscx =
’ er _
coSsx = secx =
9stp =
tanx = cotx =
(5, _6) sinx = CSCX =
0, =
coSXx = secx =
9stp =
tanx = cotx =
(=5,12) sinx = cscx =
0, =
coSX = secx =
9stp =
tanx = cotx =
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C12 -4.3 -Solve cscB, secO,cotd =? HMK

Solve
T
cot§ = 51 _
sec 7=
4m = cscE =
sec? = 6
m_ cot = =
CSC T = 4
5w _ 7 _
sec 3= csc e =
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11w
sec— =

cot— =

3n
sec— =

21
cot— =




C12 - 4.3 -Solve cscx=2 HW

Solve for x,0 < x < 2m, answer should say x =

secx =2 1
cscx = _ﬁ cotx = —1
e E cotx = \/§ secx = —\/E
)
cscx =2 = -
secx 2 cotx = _i cscx = —2 cotx = —/3
V3
sinx = ——3 cotx =1 3 secx = i = v
B secx = —— 2 cscx = >
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C11 - 4.4 - Unit Circle Quadrantal Angle HW

Sketch O, Label the point on the unit circle.

37 T
21 T 2 2
471 1.57 6.28 3.14
3T
2 E T 2T
471 1.57 6.28 3.14
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Cl12-4.4 -Solve sinf=7? HW

Solve.
. 3 _ T
Sin2mw = COSTT = tan? - s 2 B
cos4.71 = =
cscl.57 = tan6.28 = sec3.14 =
3 _ m
csc > = cosE = cotm = cos2m =
sin4.71 = =
cos1.57 = tan6.28 = cot3.14 =
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C12-4.4 - Point on Unit Circle HW

Find sinx, cox,and tanx for the following points and 8 stp.

(0,1) sinf = (1,0) sin@ =
cosf = cosf =
tanf = tanf =
csch = csch =
secl = secl =
cotf = cotf =
estp = estp =

] sinf =
0,-1) sinf = (=1,0)
cosO = cosf =
tan@ = tanf =
cscO = csch =
sech = secH =
cotl = cotf =
estp = Hstp =
©3) sinf =
(=99,0) sinf =

cosf =
cosO =

tanf =
tanf =

csch =
csch =

sec =
sec =

cotl =
cotl =

estp =
Hstp =

Trig Page 18



C12 - 4.4 - Unit Circle Trig Equations HW

Solve for 8,0 < 6 < 2m

sinf =1 cosf =0
et cosf = —1
sing = -1 cotf = und
sin?6 —1=0 secd =0
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Cl2-4.5-sin260 = % ASTC Special Unit Decimal HW| 0<6<2xn

1 _
_ tan260 = 1
cos <§x> =0 an sin26 = —0.4
_ 1 1
cos(20) =1 sin[=g) =2 tan46 = 0.6
2 2
20=1 ! !
tan20 = cos 59 = _ﬁ sin368 = 0.6 sin260 = 6
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C12 - 4.5 - Algebra Special Trig Decimal Equations HW

Solve forx,0 < x < 2m

2sinx =1 V2cosx —3 = -2 —2sinx+1=5

4cos’x—1=0

sinx — cosx = 0 —2sin?x+32=0
2tanx = 2 2c0sx+1=0 2cosx = —V/3 tan?x =1 4sin’x—1=2
. 2. _
_\/Eslnx—]_:o ZCOS x—l Zsinxz_ﬁ tanx_2=_3
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C12-4.5 - Period HW 0<6<2r

1
cos(x —2) =0 sin(2x — 2) = -3 tan2x = 0,2

N~

T = s s
cos(g(x—2)>—— sin<i(x—1)>—1=1 tan(z(x—6)>=5

2cot(2mr—1) =-3.8

cos <g (x- g)) =02 2 tan <2 (x - g)) +3=1 cot(1.2x) = 7
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C12 - 4.6 - Equations Algebra HW

3sinx = 2 — sinx 1 — cosx = 4cosx
tanx + 1 5 2cosx = 4
tanx
7 —3secx =2 cosx = secx
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—3 4+ 2sinx = 7sinx — 1



C12 - 4.6 - Factoring Equations HW

Solve for x,0 < x < 2m, by factoring, then setting factors equal to zero and solve.

sin® x — sinx =0

2sin’x +sinx—1=0

cos’x —cosx—2=0 )
cos“x +cosx =0

. 2 . —2:0
SIn®x + sinx 2cos’x —6cosx—7 =0

2cos’x —cosx—1=0 3sin?x + S5sinx—2=0
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0,1

cosx+1—2secx =0

tanx = 2cotx — 1

2sinx = 3tan® x
Polynomial!




C12-4.7 - NPVs WS

Denominator # 0

Determine the non-permissible values of x in radians, for the following expressions.

sinx

CSCX

1
cosf — 5

cos? x

1
sinx — cosx

sinx
cosXx
tanx
sinx
1 cscx
tanx tanx
1 1
1—sin?x tanf — 1
1 1
sinx — tanx cos2x + 1
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cosx
1 - sinx

CSCX

cotx

tanx

1

sinf — L

V2
1

cos?x + cosx — 2

tanx

Ccosx




C12 - 4.7 - Domain Change HMK

Draw 6, Arrows within the Domain

0<6<?2m
/0,2n

-T<0<0
/O,Zn

T, T

2" 2
/0,2n

0<60<4m

/Q,Zn

AN
AN
AN
AN

Trig Page 26

.
.
.
.

A A7




C12 - 4.8 - Solve (x,y) Unit Circle HMK

Find the missing value of the point on the unit circle

N DN O
N VAN

0.2,y)

2NN

NI

N Y
NI

R
N

V2
(—7'3’)
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C12-4.8-P(8) =?Solve (x,y) Unit Circle HMK

Solve the point on the unit circle

=
—
w|
~
Il

=
—/
| g
~
I

AaYanyanyan
SPASPANDASOAND,

Trig Page 28



C12 - 4.9 - Arc Length, Central Angle HW

Don't forget to draw and label the circle!

What is the arc length of a circle with:

A radius of 1 and an A radius of 5 and

A radius of 4 and an
angle of 4597 an angle of 60°? angle of 180%?
What is the arc length of a circle with:
A radius of 1 and an A radius of 5 and an A radius of 4 and an

s 31
angle ofz? angle of m? angle of;?

What is the central in radians angle with:

A radius of 1 and an arc

length of 1? A radius of 3 and an arc A radius of 5 and an arc
length of 27?

length of 127
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Cl12-4.9- Radius, Sector Area HW Don’t forget to draw and label the circle!

What is the radius of a circle with:

An arc length of 5 and

An arc length of 3 and An arc length of 2 and
a central angle of T ?

T i
a central angle ofg? a central angle ofz?

What is the sector area of a circle with:

A radius of 1 and an arc A radius of 3 and an arc A radius of 5 and an arc
length of 1? length of 2? length of 12?
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